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INSTRUCTIONS RES
§l 1. At the start of the cxamination hefore attempting the question |J| 1. T579-95 #& @07 B T U T A gsaR g v el
paper kindly check your test booklet and OMR Answer Sheet T, SATE 0 9E Wi A E Hfi@‘lﬁ FE & o~
and ensure that - B HT-UH QRS 0 S U9 AT, Tesm & a0k 99 B
5 The serial numbers of test booklet and OMR answer shect are |} v wos-wy c!fﬁ—ﬂ T LU, NEATE & a 7= W
Same. 60 g E ST o Bl o v o ey e e B o
% All pages of test booklet & OMR answer sheet are properly gﬁdrm & i ge 9 2
{ printed and test booklet is not damaged i any manner. Nopage (N Bl o ware 7 Feivhy &9 @ ﬁ"IT‘T S T e “ﬁﬁiﬁl s
of test booklet is missing. SO A THOTE W ey FereTl asfiery & g m i
In case of any discrepancy/defect the candidate should immediately o] &9 % 5 fime & qeTE e fei § 9 Brny o fear
report the matter to the invigilator for replacement of test hooklet & | enE mme EmE g § e
OMR answer sheet. No claim in this regard will be entertained after [l 5 wub gosff & gre i
five minues of start of examination. Candidate will be hiahle forit. 1w ged & ai EmE T
2. Answer all questions. 3
3. Al questions carry eqgual marks. 3 . S T RO Qg ?ﬁTﬂT
4. Qnly ane answer is to be given for each qucsllun, 6. IW“F USJ % tﬁ é\&ﬂﬁ% T B R
3. If more than one answers are marked, it would be euted as T,
WIDNZ AnSWeL.
6. Each question has Tour altemative responses marked seriafly as
. 2.3, 4. You have to darken only ene circle or bubble indicating - . . e
the corvect answer on the Answer Sheet usmg BLUE BALL - # wrd orepE TET Ay Hji'f :j‘.qjl 2:;_;'21;:? Ed%;%
. N o OIS HAE 9 E g ol H B
POINTES _ I <A g5 7 el G A wga 7 @ dew mew zet o
7. 13 part of the mark(s) of each question will be deducted for ETF?TT?EI
each wrong answer, (A wrong answer means an incorrect answer [
or more than one answers for any question. Leaving all the 5 < ﬂj/aag‘; ECF %8 i;ﬁ ?EW’;F% = ) e e i
relevant circles or bubbles of any question blank will not be s W i W_ werdt & o T A e
considered as wrong answer. ) ' =T e & e e 9 e FRITATY 3T Ffart
8. Mobile PhorlzefB.luetlooth Dm'lir:c]s; (z ar;y othcrelclcrmnics gadget 9 me T ST P — TS
in the examination hall 1s strictly dealt as per rules, ’ , e
9. Please correctly £l your Roll Number in O.M R_ Sheet. 5 Marks ﬁ%ﬁi;fﬁﬁg}i i?r:w W'}‘ A ﬁ il W T
will be deducted for filling wrong or incomplete Roll Number. : A - . )
10, If there is any sort of amblgaity/mistake either of printing or 1. ﬂ; il Q:;{ 5 Bl s W"T”T PRl ST
factual nuture in Hindl and English Version of the question, the :E‘Q JE A F{WFW SER F1 —ﬁf‘} B AT T H S
English Version will be treated as standard. %Tﬁ JFTT_{“;TGQW ' o A ¢ o ® o
Warning : If 2 candidate is found copying or 1f any unauthonzed T A A § = dﬂ;&w :iqqif ;’# ”;g' i f{ f;g_g%
§| matenialis found in histher possession, ELR. would be lodged against 3 oz e g 3" T‘W b
himvher in the Police Station and he/she would hable to be prosecuted i ETTJW oo TR ﬁﬁ?‘ﬂ A T eﬁﬁk‘i ?ﬂ‘éﬁﬁ i
under Section 3 of the State Prevention of Unfair means Act, aﬁirﬁ‘m“q 1992 Eﬁ gy 1 o i Wﬁﬂ e
1992 and Board Regulations. Board may also debar him/her (FT, A w g AT U e 9 ‘Hﬁ‘&? ﬁ EEl
permanently from all future examination of the Board. I aﬁ;ﬁ :ﬁ?j AR whee @ feliE s s B
zo vl gfe ® 9 q& 7 @9 oW %% %8 4 90 / Do not open this test booklet until you are asked to do so.
amm— — - —— - "'""-—-_]-
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1) Phenylketonuria is an autosomal recessive disorder of man. If the frequency of affected newborn
infants is about 1 in 14,000 assuming random matting, what is the frequency of heterozygotes ?

1}y 0.017

2y 0.009

3) 0.018

4) 0.001

1) @RS PEHRRE T B ue et [ORE AuEEl Few ¥ | ok gud oafas st figel o

S 14000 ¥ ¥ U & @ argfand TW A gy Remgrafiat

1) 0.017

2) 0.009

3) 0.018

Tt anger @ enti?
4) 0.001

2)  Match the terms (type of inflorescence) in column I with their example (plant name) in column I
and choose the correct option -

Column 1

(a) Cyathium
(b} Verticillaster

(c) Hypanthodium

{d) Corymb
CODE .
(a)
1} (1)
2) (1v)
3 {11i)
4) (ii)

(b}
(ivi
(i)
(i)
(iii)

(c)
(i)
(i)
(iv)
(i)

Colamn I
(1) Candytuft

(i1) Ficus species

(111} Salvia
(iv) Euphorbia

(d)
(ii)
(1
(i)
(iv)

2) e 1% o (GRS uaR) w w1 H el vk saerw (uEg 99§ gafa fifvd ger

el fame gy
FlaH 1 Fiad I
(a) AEUREH (i) FErewe
(b) #TH (ii) HrEFE i
(c) FREGHTEgY (iii) HfeeRy
(d) THiE (iv) gwifdan
wHE
(a) (b) {c) (d)
b (i} {iv} (i) (i)
2 (iv) (iif) (i (i)
3) (ii1) (1) {iv} (1)
4) (i) (i) ) (iv)
3

23- 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

AL .

3) Read the assertion and reason carefully to mark the correct option out of the options given below :

1) If both the assertion and the reason are tre and the reason is a correctexplanation of the assertion
2} Ifboth the assertion and reason are true but the reason 18 not a correct explanation of the assertion
3y If the assertion is true but the reason is false

4y 1f both the assertion and reason are false

Assertion : Motor vehicles equipped with catalytic converter should use unleaded petrol
Reason : Lead in the petrol activates the catalyst

3)  Fatatad u&"f%i ﬁ\iﬁﬁﬁm (Assertion) &F G & YA HIT0 (Reason) & gaE B | U9 Bl BH
T qe A J9 &9 v HEed 5§ se gi=g
= 2) SEEYE S EEO AN AR E R T e A HE] arm A A ¥

;%ﬁ’ - - =z
3) VEmgd T fE @ e E
4) WHUA ST HEO S AT 2 |
Y L TEES AR gA AR aEAl | HE YT Yo e SuE ST ARy |
HIOT ¢ HHT g UL ZENE @) AR W 8 |
4y The most common HIV subtype w India is
1y C 2 E " 3) H 4 D
4y wEe F e HIV S99Er (09 2ma) gafas g w3 g o
) C 2V E 3HoH 44D
.
Foah

5} Highly repetitive DNA is seen in :-

£

{a) Telomere

(by Microsatellite DNA
(¢} Centromere

(d) Cloning of DNA

1) (@), (b), (o) (d) 2y (@), 3) {e), (d) 4y (a), (b), (¢)
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5)  wretuw yrEld 2 09 U o g o g -

(@) TREET (3aEs)

(b) FegT =1 O U

(c) Fgri (qoga fg)

(d) &1 T U T AT

1y (@), (b), (c), (d) 2) (ay (b 3y (e (d) 4y (@), (b}, (c)
6) Urea cycle and Kreb’s cycle are linked at -

1) . Oxaloacetate 2) Fumarate 3y Arginine 4y Ornithine
6) givar = UF HY W G THE FIT F -
1) SEFHE 2) wHie 3) it 4) FiTeA

7y A vector (cloning vector) is a carnier DNA molecule to which the hniman DNA fragment is attached
in DNA transfer the vectors used from smallest to largest is :-
I} Bacteriophage, Plasmids, BAC (Bacterial Artificial Chromosome), Cosmids
2) Cosmids, Plasmids, Bactertophage, BAC (Bacterial Artificial Chromosome}
3) Plasmids, Bacteriophage, Cosmids, BAC (Bacterial Artificial Chromosome)
4y BAC (Bacterial Artificial Chromosome), Cosmids, Plasmids, Bacteriophage

7y UE HAEE (F{rm"“‘ TETES), WW%WHW@W?TWW&W”TWH}TEFTW
fepur B0 E | FO0F U WP & THG TgE HAEE 969 W gET PR @ AT 7 -

) Foremopeiishi, wnfER, @ U A (S B e, wiee
2) i, wniwEa, T, 4 0 9 Gliabas g gorma)
3y wifimzs, Trampdrr, sass & o @ (FEnEs B )

4y & w i (Frepfraw ghEm Erm), wheEE, wnErEe. ayr

8)  Choose the elements name which have negative effect on flowering if their concentration in plants
is low :

1) Sulphur 2) Molyhdenum 3) Ninngen 4y Al of the above
8) I Fex W AM gHd Sl 9oH B o wweEs g favn B9 umw ¥ T Ul we A

) AT 2y wfeez= 3y MTEEIS 4y TIEE A

9y If a four nucleotide sequence code for an amino acid instead of three theoretically how many
unigue amino acids could be coded by such a system-

1) 256 2) 128 3) 16 4) 1024 |
N ofg v Tgiere AT AR F ford A IR B EN B O T T e o ey s
2 gt w0 ¥ o B Gl wdm a e e
1) 256 2) 128 3) 16 4) 1024
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10) Human bra%i%@ﬂre intelligent than monkeys brain due to :-

1) More blood supply
2) Larger brain
3) Increased brain area compared to body surface area

4} Increased convulsion

10) wra AfEawh geArEs w0 T oem gRaa B gee 61 gee | 3d se
1) aius = @ eyl -
2) AfEaws w AR g2 A
3) 91T TR BT ARl H AR A iR &
4y ferp UeH

11} Chemical formula of heroin (smack) is :-

1) c:/:}stNos 2) CNHmNOB 3) C17H19NOS 4) CstzsNOB

1) Fedpes (GFF) o1 a9 8
[y C,H NO, 2) € H,NO, 3) C H, NO, 4y C,H,NO,

12) Pick out the correct stalements:-
(a) Cuticle is absent in roots
{b) The stomata are more on lower surface of dorsiventral leaf
(¢) Number of xytem bundles vary from 2 to 6 in dicotyledonous root

() The vascular cambium in a dicotyledonous stem is completely secondary in origin

1y (@), (b) and (c) are correct 2} (&) and (d) are correct

3) hyand (d) are correct 4) (a). (c) and (d} are correct
ol
12y w81 mes g -

() T T e TR R §

(b) guserrl yol W g T =98 97 AGE 29 2

(¢) feediomsll get # wzery Al HEN 2 W 6 A £ 2

(d) Tl 79 | dael v T9@ % wae 9 gl A e e

1) (@), (b) 3 (c) e & 2) () AV (d) W&
3y (b) 3 (d) 78T & 4) {a) {(c) AP (d) HET &
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13) Pick out the correct statements :-
a) The first hormone discovered was a substance named secretin
b) The adrenal cortex arises from endoderm
¢) Angiotensin II stimulates vasoconstriction, causing rise in blood pressure
d) The posterior lobe of pituitary gland arises from pharyngeal epithelium as an invagi;]ation called
Rathke’s pouch

1) (b)and (d) are correct 2) (b), (c) and (d) are correct
3) (@ and (c) are correct 4) (a), (b) and (d) are correct
13) wd e gy -

a) YR WIS TAT EWE HHCH 8
d) SR TR T TS 9T T I9EA H UF SREE (3ANE), N 5 $ 9 #ed 2, |

1) () d7 () F & 2) (b), (c) 3 (d) " &
3) (a) AW (c) W&l 4) (@), (b) A (d) ™ E

14} Read the assertion and reason carefully to mark the correct option out of the options given below:-
1} 1f both the assertion and the reason are true and the reason is a correct explanation of the assertion
2) I both the assertion and reason are true but the reason is not 2 correct explanation of the assertion
3y If the assertion is true but the reason 1s false
4y If both the assertion and reason are false
Assertion : Cardiac muscle look like syncytium but histologically it is not syncytium

Reason : Cardiac muscle tibers branch and interdigitate, but each isa complete unit surrounded
by cell membrane with a cenirally located simgle nucleus A

14) fyeifeafarg usdl 0 USRS (Assertion) % TR & USHTT H1UT (Reason) 1 48954 2 | U #1474
# ue Ar 96 B o e 9 wer g |
1) U S W AL WEN ¥ S mr Tehue 1 0E OrEE 347 € |
3y ieEped TE E g 0T T E
4y UeEHH A IO AR T ¥
FO : 2EAl YT A STETgeRT Ud WY AT £ Wi Uik, B S g e, e
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15) Match the terms in colurnn § with their description in columm 11 and choose the correct option

Column 1 Column 11

a) Bibliophobia 1) Fear of fire

b) Limnophobia it} Fear of lakes
¢} Pyrophobia ' iii) Fear of old age
d) Gerontophobia v} Fear of books
CODE :

(a) (b) (c) (d)
1) (iii) (ii) @ (iv)
2) (i) {(i1) {i1) (iv)
3) (1) (i) (iv) (ii1)
4) (iv) (i) (1} (i)
15) =fery | % gvei Bt wiew 1 8 RBE w0 295 gy 8§ gl ol qan 79 e gieg
: At Ei L
. (a) FFaratamm (iy 1 7

(by ferireitaan E G EIRT

(¢) TR (iii) Fezrawen H T9
(d)y FETErETET (iv) 9% 1 99

(a) (b (c) {dy

1) (i) (i) {1} (iv)

2 (i) (i) (i1 (iv)

33 (1) (1) (1v} {i11)

4) (iv) (i) {1 (1)

16} Find the correct match:-

! a) Apoptosis e
] ) Passive process
|

e j ) 1) Plasma membrane intact
5 b) Necrosis 1v)  Death of single cell J
(a) {
1) (1), G (1), (iv)
2) (i), (iv) (1), (i)
3 (i), (i} (i), (iv)
4) (1),(11), (0v) (i1
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16) =& gafg @ gEE -
|y i 0 ISR sHEE A A AT e
i) g
.. i) T e T
by iv) UEA HiiTE @ e
RE

(a) (b)

1) (ib), (i) (i), (iv)
2) (i), (iv) (@, Gi)
3) (1), (i) (if), (iv)

4 (), (i), (Gv) (it}

17} Which of the following 1s the most likely inheritance pattern in the pedigree given below:-
- -
1
CL -

1
F“J*_i ; ;’

- i j i

¢ O O M

1y Mitochondrial 2y X - hineed dominsnt
3) Autosomal recessive 4y Autesomal dominent

17y AT AT 0F gYTEen e § 29 7 e waieE TaaEs gunty o
)

T )

e

L 20 B 4
Looh L Sl

; 1) AT 2) X - @ gErE 3y AR g 4y =i e

I8} Cell type which lacks HLA (Human Leukocyte Antigen) is -
1y Red blood cell 2) Thrombocytes 3y Hepalocytes 4y Neutrophil

I

18) aiforRt =1 e S HLA (59 =Epmee U= %1 597 5 8 o

1)} wrey =T i 2} UiETEEe

r

3) fRdEmEEe 4y =T

: 23- A ' 8
0
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19) Which of the following 1s wrongly matched in the given table:-

Yirus Nuclic Acid
1) Pox virus ds DNA
2) Myxo virus ss RNA
3y TMV 58 RNA
ss DINA

4y Adeno virus

19y S & el | v Toewdn e wE e gl o

V) Ul aEvd ds DNA
2y TedETErE ss RNA
3 TMV 55 RNA
- 4y TERIEETH ss DNA
%{, 20y Which of the following is wrongly matched in the given table : -
72 Lichen Forms of lichens
! |} Parmelia Foliose
2) Cladonia fruiticose
3) Hacmotomma Crusiose
4) Peltigera Leprose
20) Ay a1 e nfaent A T TR g W w g -
Iy vt ETATATH
3) Temicnn FEF o
41 o AT
21) Which type of microscope used to study of living cell
e 1y Compound microscope 2) Oil immersion microscope
g?ﬁ 3y Phase - Contrast picroscope 4) Electron microscope
B 21} FERT TR w eIssT SEE RS % Seadd 0 IOw M S §
gﬁrﬁ V) HgE asesi 2) A% TS gemeEst
IR A A el 4) T e

22} Example of nuclear stain 15 :-
Iy Bosin 2} Safranin 3) Haematoxylin 4) Borax-carmine

23- & 10
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22) HERE WTEE 6l IEE B
1) gands 2) T 3) TenEfaes

23) Hematopoietic stem cells can be found in :-
(a) Peripheral blood vassels
(b) Bone marrow
(¢y Umbilical cord
1-) In (a) and (b) only 2) In(b)only
3y In (a), (b) and (¢) 4} In(c)only

(a) gy wiew afeEn
(b) iy F=aT

{C) %;\ o Taﬁ

1) &aw (a) o7 () F 2) FEd (b) 7

3) (@), (b) 37 () & 4y T (c) 5
24) Which of the following is wrongly matched in the given table :-

Genetic code Amino acid

1) GCA Alanine

2) CGA Proline

3) ACG Threonine

4) GAC Aspartic acid

24) vy i ey Aot § v DR TR R AT g

h GCA AT

2} CGA T

3) ACG YT

4) GAC TITTEs 37

GET IT ON
Google Play

4y ST

25) A plant of genotype AABDCC is selfed. Phenotypic ratio of I, generation would be -

D934 2y 3]

3) 9:3:3:1 4y 27:9:9:3:6:3:3 ]

25) v wrE R A OTRY AABLCC B, § m WR AR T 0w e e g

1y 9:3:4 2y 311

3 9:3:3:1 4y 27:9:9:3:9:3:3:]

23- A 11
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261 Longest cranial nerve is -

DX 2) Vi 3 4 1V
26) T WEE AT dteae A § -
1) X 2y VI 3 1 4
27) Select the correct matching of the clotting factors and their senal number -
Clotting factor Number
1) Hagman Xin
2) Thromboplastin Y
H Christmas Vi
1 4) Proconvertin Vil

27) wé gafea @ ey, et B B0E T 396 BAE 6

L A PRI
%ﬁ 1) ETEA X
. 2) L T il
‘ 3) Ty Vi
4) UlghwaTa - VI
283 iﬁxample of artficial auxins are -
fay IPA
() PAA
{0V NAA
(dy245-7
tey24-D
D@ e T 2y ) () (e
3 () () (d) 4y (a)y () () (d) (¢)
28) EE SRR F T E - .
(a) IPA
& {b) PAA
() MAA
(dy245-T
o () 24-D
By @) (@) (@) 2) {b) (©) (&)
3} (@) (b) (D) 4y (&) (b) (c) (d) (&)

23_& ’ 12
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29) What would be the number of chromosomes in the cells of the aleurone layer in a plant species
with 8 chromosomes in its synergids cell -

1) 32 2) 16 3) g 4) 24
29) wes ured, frEel gEEd B (s B9EE) § 8 e E @ ORI v & el |
1) 32 2) 16 3) 8 4y 24
30) Lateral root of higher plants arise from :-
1) Endodermis 2} Cortex 3} Pericycle 4y Epidermis
30) T UEdl #Y Wed HW SHH A Bl @ -
RCGRGL 2) Fge 3) gfvy 4) fergs

31) Consider a sphere of uniformly distributed mass of 1 kg/m* and radius I m. Its moment of intertia

about one diameter is :-
1 033 kgm? 2) 050 kg m’ 3) 140 kg m’ 4y 1.67 kgm?
3D) 1 Ty M3 % g B9 4 TOARE s S 1L B S W B SO S | s wH b
T THH TS AT ¢
1) 0.33 [/ |12 2y 0.30 Bz 3) 1.40 fEm s w52 4y 1.67-FFa./ fdi2

32) Consider a circular ving of mass 1 kg and diameter 0.2 m. It is making 10 rotations per second about
an axis passing through s cenfre and normal t the surface. The value of angular momentum is -

1) 2.512kg m¥sec  2) U4 kg mi/see 3) 1.256 kg m¥sec 4y 0.2 kg m¥/sec

32) 1 fn, werge A 0.2 9 = F U GATED a9d A e FT | 3 B 0 Y 9w 3 a9
% EEE UH 34 % WO T8 10 9 U A9 @0 27 7 YU %7 7R 8 | E dan A A 2

1y 2.512 Fpndrem, 2y 0.4 TR 2.
3y 1.256 T AT, 4) 0.2 Emaem.

33y A rod of length ! and uniformly distributed mass m per unit fength is undergoing rotational motion
about a perpendicular axis passing through s mid-point. If the angular speed of the rod changes

from 0 to @ in t secs, the applied torque is -
b mPo/(120 2y mPw/ iy 3) mPa/ (30 4 mlo 30

33) | wrand i wAE w9 A a0 T R E e F1 0% B 90 0 faeg # g gt
FREEE S & e YU 7 781 E | AE W A wE T o HEOS § 0 0 o I g6 § A7 A A

1y mFo/ (121 2y mPw/ (120 3y mPw (31) 4y mP w3y
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34) For aperfect gas the specific heat at constant pressure C_and that at constant volume C_ are related
as -
1 C =C, 2) €, =C+R 3) €, =C-R 4) € =C +logR

34) v amest W ® e ad e o falere e C SR P e @ fEiire s O g o
TEREE T

1) Cp = Cv 2) (T]‘ = C\+ R 3) Cr‘- = (?\-'m R 4) (:(’ = (v” + lOg R
&
%} 35 Efﬁciency of a reversible heat engine working between a sink at temperature 30° C and source at
? temperature 90° C is :-
oo N 13 2) 213 3y 20/121 4y 100121
35) 30°C 4 % s 2 () 3 90°C A9 % e R T as FEeie 0% 9EEE B dE 6 ed &
) 1) 1/3 2y 2/3 3y 20/121 4y /120
36) In adiabatic expansion of a system in which its temperature changes from a valoe T 10 T the
entropy will : ' 7
1) Increase
2y Decrease
3) Remain unchanged
4y May increase or decrease depending upon the ratio T /T,
: 36) uw fEE % war wav | B e A T, R T, % g5 7oAy o
s . i
o 1y F&m
| 2) =

4) oA TT, W Fe/ag A E A aE aed g o
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37} A body executes simple harmomic motion. Choose from the followings the correct graph representing
relationship between the Kinetic energy, k,, of ihe body and its distance from the centre of oscillation:

Ex
ol Distance Distance
Ex
3) i\
e} Distance Distance

37y g e me sl of wven ¥ 0 e A T fyos @ v et B, ofr 39 & S 1 oEm gl &
He e TRl 7Y T TRl I T B iR

L
——

.__+;.W . ™

g3y ' o o!

Ey Ex
0 : 2) !\
o 3 ) oi T
£k _ Ex
e
Eul

il

A vertical spring is suspended from one end and carries a mass of | kg at its lower end. 1 is made to
oscitlate in vertical plane. Amplitude of the oscillation is 3.1 m and at t = 0, the displacement is
0.1/+/2 m. Taking the force constant of the spring as 10 N/m and assuming the frictional forces (o
be zero, the relation between displacement and time is:

[y x=(0.0//2sin(mt+a/2) 2y x = (0.1 2)sin(mt+ )
3y x e (O )sin(nt+ 1/2) 4y x = (0. Dsin(mwt+ a/4)
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Ao H Aifere Toan orem ¥ | e o1 IR 0.1 41 ¥ Y W o= 0 W o 0.1/42 W E T
T e (10 e/l R g o0 ad Fer o SR W B0 [, SR TR O e W R
1) x=(0.1/J2)sin(nt +m2) 2y x= (0.1 Dsin(nt+w/4)

3y x=(0.Dsin{nt+n2) 4) x = (0. sin(mt + n/4)

39) A 2 mlong weightless spring having a force constant 25 N/m hangs from ceiling. Atits lower end
is suspended a mass of 1 kg. 1 it is pulled down by 10 cm and released then the kinetic energy when
the spring has moved 5 cm up is:

1) 0.125 Joule 2y 0.0312 Joule 3) 0.0624 Joule 4) 0.0933 Joule

39) 2 Hi. el 1k YT TiEd T TaEE wﬁmzsmm ® wE | wewdl & ot 3us Mad B w
1faammwmqm?la%w ;m:r W1, W HigwT o T aen ¥ A ot s AL i e m
off el &1 & 99 T AT HAl 8
1) 0.125 5 2) 0.0312 3 3) 0.0624 F# 4) 0.0938 3

40) A body is undergoing simple harmonic motion with frequency ©, and an oscillatory force of frequency
® is applied on it. Damping constant representing the damping force is ». Consider the following
statements regarding resonance condition when the amplitude of oscillation is naximum:

1) Itoccurs at @ = m, for all b values.

i) It occurs at = @, only for b=0. -

iii} It occurs at w < o for non-zero & values.

1v) It occurs al o > @, for non-zero b vilues,

Choose the correct statement from the followings:

1y (1) is cotrect.

2} {il) and (il are correct. -

3y (11} and (1v) are correct.

4) Noue of the four is correct. Resonance always occurs s, /2

40) e fve o rgfe o Eer el o 7 R R S TH 9 o AR A O S S AT e E

WW?TWWW‘WWb iW?ETW?JT e BTN BT RN
ey B9 %, & wed J [ ggs v ian g
D) b F A9 WA F T o=, 9 AR 29
i) FFF b=0F FT 7 w=0, 7 GeT &AM |
ity b & 7 o wE % R OOE o <o, W oAk B
iv) b % -9 A & 99 98 o>, 90 9fE 2 e

Iy HFdE

2) (i) AW (i) =8 2

3) (D) AW (v) T8

4y T | H wE HE 8 | SR 00 o=o/2 W aed f@m T
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41) At a certain point two waves create pressure variations as p, =P sin (21 vt) and p. = P sin 27 (ut-¢p).
Amplitude of resultant wave at this point when @ = %4 1s

1y 2p 2) p 3 pv2 4) 0

4D fpd oF fag @ T @@ e p, = Psin Qruy 31 p, =P sin 27 (t-@) T &7 | 7
cp-%ma§mh§uzqﬁmwwmm?

1) 2P 2 p 3) P2 4 0

42) Intensityratiol /1 inapattern produced by interference of two coherent light sources of intensity
i00 and I 1s :

1) 101:99 2) 11:9 3) 121: 81 4y 101

42) 100 7 1 AGE & B bl q9a WES THE F AR 2 sdifsd e didl g
Ieﬁwﬂaﬁw E
1y 101: 99 2) 11:9 3) 121 8 4y 10

43) Two trains are approaching each other with a relative speed of 50 km/hr. Engine of one of the trains
whistles at a frequency of 100 Hz. Apparent frequency of the whistle heard by a passenger in the
second train, after the trains cross each other, will be:

1) 91.9 Hz 2) 108. 8 Hz 3} 737 He 4y 152 He

43) ﬁWm%a?rvm’fﬁafﬁﬁoﬁrﬁWé ﬁamﬁanﬁﬁmﬁ"i@:qwmmmwme
i =T & Jnm FT WE G § | wisal & UEEH W U 699 & A, O veerE 8 0% el
ZrT FET N T ST s e

1y 91.9 Hz 2y 108. 8 Hz 3y 737 Hz 4) 132 Hz

44y Distance between the electron and the proton in a hydrogen atom is about 0.5 x 10" meter. Valie of
coulomb force between the electron and the proton is:

1) 9.2 x 10" Newton 7y 9.2 x G Newton
3) =9.2 x 10-* Newton 4) 4.2 x HF¥ Newion

44) T FEFIAF WA W T S HIEE % He T A O%xi() O AT B | Ty I O 4
W T A H A €

1) 9.2 % 10 = 2) 92 % 107 =
3) 9.2 x 107 e | 4) ~9.2 x 10°% Fe

45} Total charge on a sphere of radios 10 cmis | micro coulomb. Maximum elecuic tield due to this
sphere 15
1) 9 x 107 Newton/Coulomb 2} 9 % 1 Newton/Coutomh
33 9 x 10° Newton/Coulomb 4) 9 x 10% Newton/Coulomb )

23_‘ 17
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45) 10 A5 B % wF T W WA@Y | ARE gEra B ) 2 W 6 AR SAma fga 6§

2) 9 x 10° JJE / A
4) 9 % 10 =ET | AT

1y 9% 107 e | gars
3) 9% 10° HeF [ HE=

46} Electric flux entering a closed surface is 2x10° Neuton-m?*/Coulomb and the flux coming out from

the same surface is 8x 107 Neuton-m*/Coulomb. The value of charge inside the surface 1s:

I} 0.106 micro Coulomb 2} 1.06 micro Coulomb

3) 0.53 micro Coulomb 4) 0.053 micro Coulomb

46) 1 T Y H g9 B AT (S T A 2 x 10 e /ger 5 A ) g | aret an

I TR B W 8 % 10° WeR-HE WA B L uw & oy IEel #OAH 2
1) 0.106 9281w 2) LO6EH e
1) 053 WEH FrE 4) 0.053 A1k FArE

47y Consider two parallel plane surfaces with equal but opposite charges. Choose the correct statement:

1) Resultant electric field between the planes is o/¢, but outside the planes it is zero
2) Resultant electric field between the planes is 6/Z¢, but outside the planes it is zero
3) Resultant electric ficld between the planes and also outside is o/¢,

4) Resultant electric field between (he planes and also outside is o/2¢,
47y o i Fole snagll @ 8 HEET 9HAE Il ) SEeTon #iTT | W euw g
1) A O e UemT A an o/, B W AW 6 AT 98 9 R |
2y HOEAl F Aeg 9 TR & of2e, ¥ T WA B 9EY 9% 56 E
3) AT & HeE A AR |l qRumd A eF ol ®
4y AL & T Y ATET | 9P EgE ae ol2e, B

4%) I ke following circuit, assyme noint X to be at zero potential. Choose  the correct option for
potential at point Y {internal resistance of the cell is negligible):
o

1A 2 A 3

1v 24

3V 4y Zero Volt

3- 4 | 18
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48)  fept iy A g X i o[ foreE i | g Y o7 T o T w8 e g (W ol
WaE g E 1)

1A 2A 2v

— = Y
id
28%
R R1
_1\}f+ 24
1) 3V 2y 2V 3y 1V 4y 994 Twe

49} In the following circuit the resistance R is unknown and R can be varied. When R is 12 ohms,
there is zero current through the ammeter. The unknown resistance R is:

C
gvfj Ammaeter
A B
Rva{
o -
iy 158 2y 0754 3 308 4y 48 &

49)  fyey gfrose A I R WEA B AT R A9 W WA E | A R 12Q B E AT e F a) o
z | 3E AiE ROE ‘

e

o z
o 5,
| . f‘\/\.L ’,

BV: { Ammeter
A - ]
1 .
Rvar K/-X Hy

[x}

Iy 158 2) 0750 3 304 4y 48 Q

23_‘ 19
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{53

— :

ATy

J

1} (100-L)ecm 2

s

Leom 3y (L-100)em
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505 In the following meter bridge circuit, balance point is obtained at J with AJ = L ¢m. When the
vajues of R and X are donbled and then interchanged the positon of balance point is.

4y 21i.cm

500 o Ay oy § e B9 ) AT =Loem, W WE BT € | A9 R A7 X & o gnd o iy

T ¥ oW [ g gy gee 5 9 7 A9 daew (e Rl g

R X
APA : AN
©
A el e B
J
T
B} 1y (100 - Ly HHL 2) L 3y (L - 100y A3

51)

current. Valve of E is;

4.5V
= G ]
{ §
28 382 45
AN AN e
"l,_ —F) ,_ﬁ"h__?
£
Y 3y 1oV

1y 45V

4)

4)

2L HA,

in the following circuit current is flown through a cell of 4.5 V (with negligible internal resistance).
When another celi of emf E 1s connected across vesistance 382 there is no change in the valae of the

30V

23- B
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51) ﬁqwﬁwWWMVas@m(quﬁwsmo)xwmmﬁ%ﬁﬁﬁ%l?ﬂférga
aEF a9 E & U §HY He 0 3Q e 97 S SR 8 A 9N % AW § 6 uivadd qe i E

E &l 91 &
45V
'!'3 r.)
/]
20 30 40
AN AN AR
A +§:..< r
E
1) 45V 2) 15V 3 10V 4 30V

52) Necessary condition for obtaining an interference pattern when light waves (of same frequency)
from two points S, and S, superpose is :

Intensity of two waves Phase difference between the two
waves at S, and S, must be

13 Must be equal Zero

2) Must be equal - T

3) Must be equal Constant with time but not necessarily zero
4) Need notbe equal - Constant with time but not necessarily zero

52) TF T Al S, AT S, Ta*?a’m TE (I AT FT) WRTeT 59N e B B | A safeenrr upey
W HTH WT__ ArEgaE YA B

3 i i e ﬁvsmaaﬂﬁ%swwmm
1) T BRI EiE | of
2} TEE EMET ARG oW
4) TEF BT AEGEE TG & WY FEH W STasadh By F 9 A

53) Consider diffraction of light from a single slit. Ratio of the intensity of central maximum to that of
the first maximumn lying on either side of the central maximum is

1y 3:1 2y 91 3) 25:9 ' 4y 1:9

53) g v Fee T gl & FEER B AU witd | e I # drgen Sr

A A STt I JEl B E

D3l 2) 9:1 3) 25:9 4y 1:9

23"‘ 21
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54) Refractive indices of glass and water with respect to air are 1.54 and 1.33 respectively, Polarizing
angle for a beam entering from glass to water is

1) tan’ (1.54/133) 2) tan” (1.33/1.54)
3y tan” {(1.54-1)/(1.33-1)} 4y tan? {(1.54+1)/(1.33+1)}
54) arg % AUH Wwé&wmﬁ L34 133 % | &l § 57 ® 5eI91 F7 A1 0 G
F oo gam &
1) tan' (1.54/1.33) 2y tan’ (1.33/1.54)
3y tan’ {(1.54-1)/(1.33-1)) 4y tan {{L34+DI1.33+1)}
55) Let the focal length of an eye-piece be 2.5 crn. For a telescope of magnification 100, the focal length
of the objective should be:

1) 250 em 2) 40¢m 3) 23 x10%cm 4) 100 cm

- 55) ﬁmﬁ%ﬂmwwﬂ TAL IR | EEE s (ATTEEe) 100 % Uk geds & foo

Higd @ B EEEA g0 B e
1) 250 H.H7. 2y 40 FA, 3) 2.5 x 107 gH. 4) 100 #L.

56} lonization energy of the electron in Hydrogen atom is 13.6 eV. For electron in deuterium atom it is

) 13.6eV 2) 68eV 3) 34eV 4) 27.2eV-
56) EREET T H T F AR B 13.0eV B | gy wa & shEm F Rr ag
1) 136eV 2) 68 eV 3) 34eV 4) 272¢V

57y According to Bohr model. the orbital angular momentum of electron in the orbitn =2 is
1Y h 2y h2n 3) hin 4 hin

57) Ay qiEe % SGAT EAHE & o =2 B § BAE F0E AT ¥ .

1) b 2) hi2n 3) hn &) him

%8) Radius of the Bohr orbit for n = 2 state of writium (1°) atom is
1) 053% 10 m 2y 212 x 109 m 3y 027 % 10%m 4y 0.13%x 10" m
58) fesfray (T9) 9790 %1 n =2 &m0 % o1 are? &ar &1 Be 2
1) 053 x 1097, 2) 2,12 x 10107 3) 027 x 10104, 4) 0.13 x L0705,
59)  Given that masses of neutron, proton and helium (,He?) nucleus are 1.008665, 1.007825 and 4.032980

(all in amu) respectively), choose the correct statement from the following
1) Removal of a nucleon from helium nucleus gives at an average 7 MeV energy.
2) Average energy required for removing a nucleon from helium nucleus is 7 MeV,

3) Removal of a nucleon from helium nucleus gives at an average 14 MeV energy.
4) Average encrgy required for removing a nucleon from helium nucleus is 14 MeV.

23“A 22
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59) =g, e e Elen (He®) i fy semm a9 1.008665, 1.007825 37 4.032980 (74
amu ¥) BT g ¥ | BT T w8 5uT g
1y &fergs v § 4 ve aEE FU F FEET W SEE 7 MeV ST e g9 E
2y Eiferm e ¥ { v TEEE B0 HF MEEH % 0 aiEEaR 7 MV S # ATaggE e gl
3) Eferm Tfaw § & v AFEE 200 F PR 9 A 14 MeV FHi o 29 R
4y Bl S § § v i 0 #1 P % e i 14 MeV 331 # smavasa 29 2

60) | U™ undergoes nuclear fission as follows
1235 98 136
n+ U — Mo™+ Xe'+12n

Energy released in fission of 1 gm of U is (masses of n, 5 U, 4234()95, and _ Xe'"“are 1.0087,
235.0439, 97.9054 and 135.9170 (all in amu) respectively)

4

1) 5.06 x 1051} 2) 5.06x 101 3 RBIx107] 4y B.Ix10"]

60) U e e fdsT 39 wew A 2

235 08 126
a4 Uy Mo™+  Xe ™+ 2n

L U o Fade @ e B A B9 E (o, U, Mo 3T Xe!™ @ geamn st 1.0087,
235.0439, 97.9054 7 1359170 (A4 a.umu. H &) -
1) 5.06x 10PFF  *2) 5.06 x 1075 3) 8.1 x 10757 4) 8.1 x H00E

61) Consider the following as a possible nuclear reaction
- H+ H* He'
Given the energy per nucleon of the H-and He nuclei as 1.1 MeV and 7 Mev respectively. choose
the correct statement :

1) The reaction is not possibic
2) The reaction can occur if H- nuclei are given a total of 23.6 McV energy.
3) The reaction occurs with a release of 25.8 MeV energy

4y The reaction occurs with a refease of 23.6 MeV energy

61) Fymfeafas dutfaa iy o 9 e w7

HE e HPos He'

e g & AT FA U A FT M A He' iHE F AU 1L MeV #P 7 MeV ®A9E € | HE
FUT YA ¢

1y fTepar gufes w80 = |

2y T B OAEA § A9 WO B T 23.6 MeV Fdl & A |

3) fpar @ 25.8 MeV 3w zwfAa &1 &

4) T § 23.6 MeV 3l o0 i 2

23_‘ 23
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62) In the process of formation of a p-n junction which of the following is true:

1) Diffusion does not take place
2) Diffusion of electrons and holes goes on infinitely
3) There is zero electrical potential across the junction

4} Charges establish an electric field across the junction

62) p-n ffr T @ wEr | Rt {8 g ad
1) TR e e ®
2) =g UG AR &l yHeul S B @
3y it % sear foem v sp e &
4) Hfy % am-ur Ay v A e el e 2

63) In the following figure if V= 0.2V then 1 will be:
10V

4.7 k)
= Vout

B, =200

.1;{

1) 0.030 mA 2y 2.085 mA 3y 2,130 mA

63) i fe form A Al V=02V B AL

10V

1) 0050 fell . 2) 2,085 it T 3) 2.130 Fefr T,

GET IT ON
Google Play

4y 1065 mA

4) 1.065 Fl T,
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64) The circuit given below represents a logic block diagram for the gate:

B %

1) OR 2) NOR 3) NAND 4) Exclusive OR

64) i T iy 39 BY % 9% - @ S R w5

-

PRl

A

B L/) L

| ] ——c
o DO r__"
1) OR 2} NOR
3) NAND 4}y Exclusive OR (TFTEFETHT OR)

65) A 5:1 wansformer is connected to a half-wave rectifier circuit with a 50 k€2 load. Input voltage s
220V .1, will be:

1) 280.1 uA 2) 440 pA 3) 8R0 uA 4) 44 mA

65) T 51 W SRR U A Rl % ey % 97 E e S0 kQ w e B ) Rl dee
220V, 1, FW

1) 280.1 93zH U, 2) 440 AEET T 3) 880 HIEE . 4) 4.4 Tl o
660) Which of the following sets of quantum nembers s not permissible -

Y 0 =30 =1, m=+3 2y n=3, =], =+l 3) n =3, =0, m=0 4y n=3,1=2, m="12,

~—

66) T B T qEFCH Gt $1 ET 87 5 T E -

1) =3, =1 m=+3 2y n=3 =1 m=tl
3y n=3, =0, m=0 4y n=3 =2 m=2

67) Which one is correct statement

i} LK and  ca® are Isobars 2y -¢17 and ¢l are Isotopes

3) xeand  Baare Isobars 4) Al of the above
67) fomr 6 4 = B 2 -

[} wK“‘”KYE? ca* (Isobars) T £

2) .l ol (Isotopes) HHEATHE A

3y xe™ud  Ba (Isobars) e # |

4) zuivE a4dq

23- A 25
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68) Electronic configuration 1s* 2s* 2p * 2p * 2p "is not obeying the law -

1} Pauli’s exclusion principle 2) Hund’s rule
3) Anfbau rule 4) Bohr-Bury’s rule
68) zamaiE fomam 1s? 287 2p 2 2p? 2p b forem ey aieet Wl @ € -
1) uite F U R 2y &9g &1 Fraw
3) AT A e &) dregdr w Py

69) Which one of the following is correct outermost electronic configuration of most electronegative
element :- '

1) ns’np?® 2) ns*np’ 3) ns*np’ 4) ns® np
69) fowy & By e fasma wattass faga woft Ty @1 % -
" 1) ns® np’ 2y ns? np? 3) ns?np’ 4) ns* np°
70) The magnitude of successive lomzation potential ofl an atom increases due (0 Increase in
1) Effective nuclear charge 2) Tonic radius
3} Number of electrons 4) Alf of the above

70) fay ey % 91 w0 A fadd b WA § gfe e A d R F afy & e EE g -

1) wHTE AT AEY 2) aaf e
3) zeEEE F HE 4y I A

71) Which one is interstitial hydride :-
1y 1aH 2) PH, 3} CuH 4} CaH,

1) fam B 4 sl wzeny ¥
1) LiH 2) PH, 3) Cuil 4y CaH,
72} Why gypsum is added to ceiment -
1y To make cement light coloured
2y To slow down the process of setting of cement
3) To obtain shining surface
4} None of the above
72) e B foress s o] HETT ST E
1) Z9& 97 =R F9 F WU
2y HIFE % T & U Bl & % e
3y THEGET TAE U FIA F 0
4y TWIE H H FlE AR

247 IO Dy
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73) Which one of the following is acidic in nature :-

i) Al (OH), 2) Mg (O, 3) Be (OH), 4) B (OH),
73) 1 H F EaE ugle e B E -
1) Al (OH), 2) Mg (OH), 3) Be (OH), 4) B (OH),

74y Silicones are the polymers of silicon. The chain length of polymer can be controlled by adding :-

1) (CH,)Si 2) CH, Sicl, 3) (CH,)Sicl 4y (CH,) Sicl,
74) ToaerpT, WA O 9RO BIG § | 90T 1 S & ol &l e 9 F R Ty Pt e
1) (CH,)Si 2) CH, Sicl, 3) (CH,)Sicl 4) (CH,)Sicl,

75) The most commonly used reducing agent is :-

1) Sncl, 2) Sncl, 3}y Pbel, 4) Alel,

75) areafess SOnT H T S 9T STOEINE B -
1) Sncl, 2) Sncl, 3) Phbcl, 4} Alcl,

76) Ata particular temperawre and pressure, the solid and liquid phases of a pure substance can exist in
equilibrium. Which of the following defines this temperature -
1) Melung point (normal)
2} Freezing point
3} Boiling point
4y Both melting point & Freezing point

76) Tl fAtEee A SRR am . T 9 A SR e e A T S A E | 5

1) TR (HHE) 2y femr
- 3) FEEETH | 4) T vd B 3

77y Which of the following are equal for a chemical system at equilibrium?

1) The concentration of reactant and products.
2) The rate of the forward and reverse reactions

3) The rate constants for the forward and reverse reactions
4) Both 2 & 3

23- A : - 27
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77) e waatE d9 % arneR § EM WO § 8 a1 weE A -
1) TravRrel Ud IOEl & ars
2) o1 JFalgeen TE word fuhETsAl @ 87
3) 3% UF WY ARl & o9 M
4) TG 2 U9 3 ¥

78) By the addition of Ar gas to the system 2HI=H, + L, the degree of dissociation of HI will be -
1) Suppressed at constant pressure and constant volume both
2) Increased at constant pressure and decreased at constant volume.

3) Decreased at constant pressure and increased at constant volume.
4) Not altered at both constant pressure and constant volume

78) 2HI=H, + 1, 3R § Ar 99 e @ HI &t G
1) T T vg Rem HEd 2M1 T FE SR
2y fe? 3@ W I SERE e ST WO BT
3) for 3 W 9 B Felh PR o W Ee |
4y fer o we R omaed el 9 aeEa e |

pock e

agyane

A,

79)  While analysis of 11 group radicals H_S is passed in presence of HCL. Why HNO, or H S0, not
used instead of HCL.. _

1y These acids oxidizes hydrogen sulphide to sulphur i
2) These acids are weaker acids than HCL

3) Use of these acids may precipitate sulphides of group HH & TV

4y Allof the above

79) TEAR HHE % yeenl 1 fAyEenl med AHg HCL 1 TIraiE F HLS T8 e c‘&*{ﬁrﬁT % | 7 HOL
% ¥ 9 HNO, @ H SO, ®1 W =1 T8 F79 |

1) 9 30 EEanE HehiEE ] ek § afedgd &7 24 E |

2) I HCL &) g7 § gda 30 2

3y 4 SEAT Y O H IV WT % He'plg2 9 e 2 A F
4) I T

80} The compound whose aguous solution has lowest pH

1) NaNO, 2) Na PO, 3) NH,CL 4) K,S0,

BO) frm w e diffts & i faead @1 pH e 29 -
1) NaNO, 2) NaPO, 3) NHCL 4) K SO,

3 A 28
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81) The solubility of Ca, (PO,), in water is x moles/litre. Its solubility product is

i) 365 Zy 108 & 3) 04 x 4) 6
1) Cu, (PO, T 77 # Frwmn « Awvsier 8 | gém femm qunsa e -

1) 36x 2) 108 3) 64 4}y 6

82) Which one i¢ incorrect match -
TITRATION INDICATOR

13 Strong acid v/s strong base Phenolphthalein & methyl Orange

2y Weak acid v/s strong base Phenolphthalein
3) Strong acid v/s weak base Methyl orange
4y Weak acid v/s weak base Methyl Red

82) fo 9 T B e |8 T8 B -

1) wad 30 g TEE 8T {LATEeTe g qie e
2) TAW S 9 AFE ar BIGEOIET

3) 9EW T 9 ga9 &n Hfer ST

4) &H@ I 9 A AT oo v

83)  Critical temperature of a gas depends upon the magnitude of the intermolecular forces. Fallowing
are the critical temperatures of some gases-
H. (33.2K), CO, (304.1 K). NH, (405.5K). O, (154.3K)

What would be the order of the tendency of liquification of gases

1) H,>0,>CO,>NH, | 2) H.»>0,>NH,>CO,
3) NH,> CO.> 0,> H, 4) NH.>CO.>H,> 0,

83y Ty o @ wifEE w9, THE 0N B 97 WA FT a4 9T ATE AW F 9 Y @
| g | % sl A st E
H, (33.2K), CO, (304.1 K), NH, (405.5K). O, (154.3K)
=9 T & ST Wl WET w0 FH AT -

1y H,>0,>C0O,>NH, ' 2) H,>0,>NH,> CO,
3y NH,>CO,>0,>H, 4y NH.»>CO,>H. >0,
84) A gas is filled in a cylinder ar pressure P choose the correct statement -
1) Pressure would be 3P if we triple the kelvin temperature at constant volume.
2) Pressure would be P/3 if we reduce the amount of gas by 1/3 at constant temperature and volume.

3) Pressure would be 1.8P if we decrease the volume by 45% at constant temperature
4y All of the above

Adda2417
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84) =g P v fodrer § ug T 99 82 8 | B 8§ ae wem gihe -
1) Fer mmas W R A1 w A T W E 3P B AT

GET IT ON
Google Play

2) Thee sper vd 7T 97 TR &) WRET B v FEE w9 0 g PA3OE Wi o

3) Tap gy 99 sEeE B 45% T N g LRP B S 1«
4) uTEE w9

&

83) What are the relative rates of diffusion of the three naturally occurring isotopes of neon
g P

¥Ng, ¥'Ne, 2Ne
[) Ne > *Ne > ?Ne 2} “Ne > 2Ne > ®Ne

3} “Ne > *Ne > *'Ne 4) ®Ne > #Ne > “Ne

85) i & fom A TR F Gl o @ e A -

.3uN& ”Ne, “Ne

1y *Ne>*Ne > “Ne 2y *Ne > *Ne > "Ne
3) PNe > ONe > 2*Ne 4) UNe > “Ne > Ne
86) With the increase in the temperature of a liquid :-

1) Surface tension increases and viscosity decreases

2} Surface tension and viscosity both decreases

3y Surface tension and viscosuty hoth increases

4} Swface tension decrenses and viscosity increases
86y fwvh za & A9 W Al w9 -
) YW ANE 9 giE A e | e Al E |

oo,

2y 0% FFE T Al 2 BH AT 2
3) g ANE UE SEEA AT Fie ;
4y T FE H g A9 S H ghE R

871 Al 293k viscosily of which liguid 1s maximum?
1Y Water 21 Mercury 3y Bther
{7y 293K A wv e | T 1T B9 B AR AN B
. 2) ®H 3 3w
88) Which statoment is incorrect .

I} More volatile Hiquids have higher vapour pressure

2} The rate of evaporailon jpcreases with increase i temperature

3} The vapour pressure of the liguid decreases with increase in temperature.

4y Dimethyi ether evaporates at faster rate than ethyl alcohol,

4y Glycerine

4) FeETe

23- A | 30
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88) =1 H ¥ o BU T -
1) fers TSl FAT H AT S SNuE B B |
2) @ H gfg & ey gfien o 2 ¥ o gfg ad
3) @9 ° g & s odl B A 29 FH e ¢
4) SEUHA 97, UfYH URREE w5 g 5 sl i & E

89) Example of molecular solid is
1) Sulphur, 5 2) lodine, 1

-3y Both suiphur 5, and lodine, | 4y Germanivm Ge and silicon Si

89) anfoes S % T8RO § -

1) 97, S, 2) HEEM, L
3) #FE2 S, ud HEEH 1 aFl 4) AHMEE Ge v TRTRA SiEE

9()) Which of the following match 1s incorrect _
1y A grey. lustrous solid, melting at 1495° both solid & liquid are
electrical conductors ' - IODINE

2y A very hard, black solid. subliming at 2700°C - Sic

31 A white solid, melting at 613°C, solid 5 not but Hguid 15

electrically conducting - Lict
4}y A yellow solid with a characteristic odour having a melting point 120°C - CHI,
90) e A AT B 98 98] B -
1) T AT I, T 1495°C, 29 U g S e o
T 1 A ] IODINE
2) Iy FHEW, B GRL 2700°C ¥ TS - Sic
3) HEE ZW, T 613°C 3 @A w 9eE E5T 2 ave O wE - Lic]
4y T TrE, e W wEEEE 120°0 - CHI,

91) Which of following compounds shows both Schottky as well as Frenkel defect -

1y Agk 2) AgBr 3 Agel 4) Nacl

23- A 31
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O Tt § & @rren diffve sifest od B ST 29 Woe HIE E -

1)y AgF 2) AgBr 3) Agcl 4; Nacs
92) 1.135m sotution of KBr in water could be prepared by dissoiving :-

1) 1.190g of KBrin 1 L of water

2) 1.135g of KBrin 1 L of water

3) 1.135 mol of KBr in 500g of water
4y 1.135 mol of KBrin lkg of water

92) KBr @ 1.135m Feos g9 o 5697 § -
1) 1.190 W™ KBr @i 1 @le7 Sl | 916 &7
2) 1.135 a4 KBr &1 1 ®icy 7 ¥ 99 &7
3) 1.135 9 KBr %1 500 U 3¢ 5 =i %7
4y 1.135 ®ie KBr @1 | {6 31 8§ di &2

93) Choose the correct match of items given in column 1 with the type of solutions given in columm II
COLUMN 1 COLUMN 11

1) Carbonated water _ - asclution of solid in lquid

2) Gasoline - asolution of gas in liquid

3) Gernman silver - asolotion of solid in solid

- 4} Sea water - a solution of tiquid in Hquid

93) fem 1 % fu w1 SEen ud wiwE 11§ fau T fEeE 5 wer w0 oad e gl -

e 1 F 1
b FEEA - F gE b (e
- 2) I - T W 59 W e
N 3) s faw -z Zm A
4) THE A - ga H 3d A (aes

94) Colligative properties of a solution depends on the -
1) Nature of solvent particles.
2) Number of solute particles.
3) Nature of solute particles.

;' ' 4) Physical properties of solute particles.

94) et Moy 3 spvpde Toed faefr v £

1) Fmras S s SR o 2) fara wmuil 9 Hen e
3) ooy mo &1 9B W 4) TaEm w % i o 9z

23-A | 32
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953 In the first step of following addition reaction intermediate Z would be
CH,-CH=CH,+H® » Z
1y Sec-Carbocation 2) Pri-Carbocation
3) Sec-Carbanion 4) Pri-Carbanion
95y S/ g 7 grnee iR & wem 9T H EaA Z e -
CH,~-CH=CH,+H" » Z
1) TzaE wEfae e 2) wafe HETEY e
3) fEdEs wate 4) WS FrETE
96) Tautomerism is a special type of
1} Chain 1somerisin 2y Position isomerism
3) Stereo isomerism 4) Functional group isomerism
96) FREFGAT UF G99 WET -
1) FEE T E 2) Ty A #
3) E=fam wmrrgaar € 4) TrarmE THE SEgTT &
97y The following reaction is a type of X
CH ,CH.Br+aq.KOH —» CH,CH,OH + KBr
1} Addition reaction L
2} Nucleophilic substitution reaction
3) Electrophilic substitution reacuion
43y Free radical substitution reaction
W) = wiatwer e vae ® -
CH .CH ,Br+aq.KOH -» CH .,CH ,OH.+ KBr
1y s Al @
2) wifwen wiEl gpamE Atate
3y TAT ] Ui AR
4) T Wi sitman
98) How many moies of Co, will be formed by the combustion of 1 mole of alkane, alkene and ailvyne
separately -
13 n from alkane, 2n from alkene & 3n from alkyne
2y 3n from alkane, n from alkene & 2Zn from alkyne
3) n from all
4y 2Zn fromall
23- A 33
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OR) TR, URBI 11 TRREA 9 % 1 AW & 2 4 CO, & fEad " o i -

1) umpA ® n, URRE @ 2n 997 TEEEE 9 3n
2) Uwk d 3n, WA o F27 UFBRA H 2n

3 i Eop
4y 79 9 2n

99) Benzoic acid reacts with A and phenol reacts with B o form benzene. A and B respectively are -

1) Sodalime and Zn powder
3} Zn powder and NaOH

99) FiEd o A F ard T B ok WY i v 49 g B LA UH B Bh

1y wEwneg g e gof
3) T3 g7 v NaOH

23 Zn powder and sodalime

4) Sodalime and copper

oy

2y Tim 9ol v wreeEmy
4) HEwEEY U E

100)An alkene on ozonolysis forms acetone and formaldehyde. Alkene would be -

1) but-1-ene
3) 2-methyl but-2-ene

2} but-2-ene

4) 2-methyl propene

100)ugs veebtsy & TSI 9aeT ° UHEH U SRR O T § | TR S -

by #ebed
3) 2 =E-22
101){‘Who is the author of book ~Veer-Vinod™?
1} Suryamal Mishran
3y Shyamal Das
101) 9@ 4r fGEe bdE ar feed i 6 7

1) g fgem 2y Fei fEE gmee

2) Kesri Singh Barhath
4} Gaurt Shankar Ojha

3} WA 4y A ST AT

102y The term ‘Misolithic” in its real literal sense means:

1y Middlestone age

3) Upper Palaeolithic era

102y TETfefies v w1 Ao ol B 9y 2 -

) e UTUERRE g
3y TE PP A

21 Middle Palaeolithic ora

4) Lower Palaeolithic uimes

2) 9 I R g
4y e T

103} Who among the rulers of the following place adopred the utle of rawal and maharawal -

1y Jodhpur 2) Dungarpur

33 Kota

4y Bikaner

34
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103) Fpg Tl § A el & qReer! 2T e T2 qEETEe @ suiitef v @ ud 4 -
1) SEY? 2) LYY 3) & 4) drEEET

104) Who amongst the following was the founder of Kota State?
1) Rao Mukand Singh 2y Rao Madho Singh
3y Rao Ratan 4) Zalim Singh

104) mier 7o & g e H H wme ar 7
1) wa g e 2) 7 A= 3) g w4 4) oty e
105) Which of the following Mughal ruler confirmed the title of ‘Raj Rajeshwar’ on Sawai Jai Singh?

1) Aurangzeb 2} Shahjahan
3) Bahadurshah -4y Muhammad Shah

105) fm fenfigs 5 7 T 9oy w5 o wabde & o g #1 suily 4 el e an?
1) HreriE 2) sewE 3) a=E WE 4) YEE 9

106) Which one of the following pairs is not correctly matched:

- iy Rana Pratap - Sisodia 2} Raja Man Singh - Hada
3) Jaswant Singh - Rathore 4) Maharana hammir - Guhil

106} Tegey Tefiger il o 605 =1 780 5& 981 2 -

V) ST ST - FrEiE 2) v uW HE - '
3w i - e 4) TEPTI B - ufee

LO7) Here is list of wars which were fought during medieval Rajasthan :
1y Tarvain-I war ity Khanwa

i11) Samel 1v) Bhatwara
Their Chronological order 1s :
Py i, i v 23wk i v 3y dv il i 4y Hi, o, iy

107) == o ggl & el & 9 F S yEEmEE T | WE T g -

1 ANEE - W g HERCIEED
iy TEA vy e

o 3
THH] I H AR 8

1y i iy 2y AL, i v 3y v, i, i, 1 4y il i i, iv
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108) With the correct name of the fort/Durgs against the places given below
1y Jaisaimer - Mehrangarh
2y Jodhpur - Junagarh
33 Shergarh - Kashwardhan
4y Bikaner - Sonargarh
L08) femfeafiaer »opell & SR =99 Heiem T/l & e B g 9 B
1) SoEy - TR
2y HIEY - ST
3) 9PTE - EwEdH
4) HET - TS
109} The main devotees of Saint Pabuji are -
1) Bebaris 2) Jats 3} Chhipa 4y Gurjar
109} o3 orgal’ & ToTs g € -
1y e 2) @ 3) 4) T
P10} o which musical instrument, Rana Kun]hilfi was an expert?
ER It - 2) Gitar 3) Veena 4) Sarang
Uk vy ear s TP Amedel § R H awE wifhe o4
e 2) AEr 3) = 4) A

FUE: The most celebrated examples of kota paintings are the -
+y Biephant fights scenes 2} Hunting scenes
A Contt seenes e 4) Festive scenes
e SEIET AR # uTers e € -
by miluE A el % ged 2) fsmbw % 599
3poETTR 3wy 4) zemg g9g
PE2y Mol Hst-Twath Bst-1T and select the correct answer by asing the code given below :
ise- i | List - X
4y Shatkh Hamiduddin Mitthe Mahabalt i} Jaipur
v Maulana Yasddm iy Gagraun
¢y Shaikh Naymuddhi i) Khatu
J) Shaikh Baba Ishaque w) Fatehpur
Codes

oo 2y LY 33,4, 1, iy 4y o i

36
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112) wr ooy vd garfEdn o foemed v 990 B T e & snun wond O & wad i -

Tl -1 Tl - 11

a) 9@ BGEM Ty "R i) WEY

by A FrarEiE iy TR

c) 9 THIE i) @

d) 97 A T iv) w®AEgy

1) il 4, iv, i 2) 1, il, i, iv 3) i, i, i v 4y v, iii, ii, i

113) Which one of the followin g fort is the best example of water fort?

1Y Kota 2) Achalgarh 3) Gagraun 4y Shahbad
H3) f=1 Tfga o | a1 g o1 309 S8R E |

1) @rer 2) SIS 3y T 4) qEE
114) The ruler and Saint Peepa was associated which place?

1} Amber 2) Varanasi 3) Javal 4) Gagraun
114) T 9T U9 W AT T R ] HATUd g 7

1y ey 2y AT 3y THA 4y s
113 Which one of the following statement regarding the Sringar Chanvari is right?

1} It 1s a shrine which was built by mandan in 1489 AD,

2) Itis a secular movement built by Rana Kumbha in 1448,

33 s a temple buitt by Vimal Jain ai Delware in 1402 AD.
4) Itis a shrine built by Bhandari Velka in 1448-49AD.

115y 3 w9t § degn 5 R 1 F T B W 2

1) U8 U IUMET T B TR WU 7 1489 ¥ H aeEn ot

2) =% U gag W £ Ty o g T 1448 £ 9 aEE oy |
3) e A7 ' B feww S 1402 | Serarer o avarn o |

4) gz O uEE = 5 T =T GwE 9 1448-49 £ W FeaErar an |

116) The famous ‘Sita Bari® fair is celebrated in the district of

1) Kota 2) Barmer 3y Baran 4y Chittorgarh
116) “sfiar-ansy &t witsg T B Tas | s & 7

1) el | 2) ArEH 3) i 4) Fefrenz

23- 4 37
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117) Rantji-ice-Baori was conswwucted by ...
1) By Hadi rani in 1680 AD during of the reign of Rao Aniruddh Singh
2} By Bhimsingh in 1705 AD during the period of Buddsingh
3) By Lad Kunwari in {708 AD during the reign of Ramsingh
4y By Lad kunuwari in 1700 AD cluring the reign of Buddhsingh

.......... during the reign of Raja

GET IT ON
Google Play

117) asipahi-amad) o sy - & BT - W A % IHA FIA 4 FIET TG T -

1) BT 99 Z0T 1680 E W g ey BE F wE
2y dmfiEEm TSt e ga e F o |

3) @ BT ERT 1708 25 7 fHe & e |

4) 7B & B 1700 €. | g s % aw A

118) Who was the first chancellor of ‘Chamber of Princes’?

1) Maharao Bhim Singh ' 2) Kami Singh
33 Gaj Singh 4y Ganga Singh

118) ‘epaz offw Sias @1 W SEE d 91 7
1y TErE 9 e 2y 7o T9E 3y wH fe
LED) The wreaty between the Mewar and British was signed on -
1y 8 March, 1818 2y 12 January, 1818
3} 10 March, 1817 4) 10 March, 1818
139) s g s & et iy 99 e Y g

{) 8 =, 1818 2y 12 wEET, 1818 3) 10 WL 1817

4) Ty P

4y 10 9E. {818

120y Bharatpur and Alwar States signed o treaty with Brinsh bast India company in -

1y Sept- Nov, 1803 2y Aug - Oct, 1804
3y Jan - Feb, 1804 4y March - May, 1806

120y wpergr md gmey § Tafew o sty g F o Al # o

1y Py - R 1803 H 2} A - AT 1804 |

2 wEd 1804 4y " - HE 1806 H
121} The Rajputana Agency was established in ... al

{1 1835, Nagaur 2y 1230, Jodhpur 3y V829, Jaipur 4y 1832, Ajmer
121) TrAgarn S AT e H O e q g -

{) 1835, AMH 2y 1830, A7 3) 1829, 9T 4y 1832, I
23 - 38
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122) Mewar Rajya Praja mandal was established in

1) 20 April, 1938 by Balwant Singh Mehta

2} 24 April, 1940 By Manakyalal Verma

3} 24 April, 1938 by Balwant Singh Mehta

4) 20 April, 1938 by Jamnalal Bajaj

122)Harg -0 99T Fl T e H e

1) 20 AR 1938, THET FE TBAT A7
2) 24 FUT 1940, HOEREE 957 G

3y 24 3IF 1938, gwdd (e Jzar ZeT
4) 20 e 1938, FEIRER TS ZF

AL

GET IT ON
Google Play

- 7 G H TE AT -

123) Which onc of the following incident was called as “dyrism double distilled” by Mahatma Gandhi?

1) Neemuchana incident of May, 1925
2} Chandaval mcident of March, 1942
3y Dabda incident of March, 1947

4) Barda mcident of June, 1922

-

123) =1 i 5 & %= Al Jedl & BER MY F IR & F T ogna NgeT e ga -

1) AEETE R, TE 1925 T
3) EEE H Al AL 1947

124) The famous "Akki movement” was led by-

1y Govindgir

3y Sadhu Sitaram

124) APTeE TEET TRl H1 T TROT TR o -

i— } m{;’}g &P_} 2} If'{,—%{}'?ﬂ“}]‘i %%__ﬂ

=

TETA E T A, 1042

<)

4y T F AEEL 4 1922

2y Moulal Tejowat

4y Keshart Singh Borhat

1) HIY AT 4y mu e avee

125) To finalize the issue of the capital of now Rajasthan a commitice was constituted under the

presidentship of -
iy Lt colonel. T.C. Puri

3} B.R. Patil

2)

43

B Menon

Shankar Bao Dev

125) 51 Trmel ) SEE B YU 8w B TR FHET O o BEOT e o T ey o

1y @ FA SLAL 9
3y ALHAT. g

2) gL 99
4y 5% T &

23- A
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1267 In terms of area how many times larger is the Jaisalmer district than the Dholpur district of Rajasthan?

1) 15.22 times 23y 16.60 times 3y 12.66 times 4) 11.22 times

120) drrre B pomerm ®1 SeET O Oey? B T e g g?
1y 15.22 9m 2y 16.66 701 3y 12.66 7w 4y 1122 7on
127) Arrange the following mountain peaks of Aravallis in descending order of their height-
1y Jarga, Achalgarh, Kumbhalgarh, Raghunathgarh
2y Jarga, Raghunathgarh, Kumbhalgarh. Achalgarh

3y Achalgarh, Raghunathgarh, Jarga. Kumbhalgarh
4) Kumbbalgarh, Achalgath, Jarga, Raghunathgarh

127) zynvaed dn el ods - aifedl @7 o9 39E & @08 39 ¥ safem £ -
) T, STEEIE, FETENE, TS
} SR, TIALTE, W, HEE
4) FraETe, SFEEG, S, A

L N

128) Which one of the following pairs correctly denotes latitudinal-longitudinal extent of Rajasthan?

Latitudinal Extent Longitudinal Extent
1y 23930 P12IN - 7046w TR _
2) 23730 MC12'N - 69300 TRYITE
3y 24730 30°1I'N - 6993110 78T E
43 23°3'to MPIUN - 7074sho TORITE

128) fomfafem § 5 &1 g7 TR B WIS - ST R wl A T F T9Ty E Y

Fenidfm A AT R
1) 23°30 8 300120 T - 700460 g 7707
2y 2330 30°120 T 699300 T 78°171
3 239309 30010 T~ 6931 E T8 T

4y 23°3 i 3peuil T~ 70°450 @ 7917 qA

P29 Structurally, the physical features of Rajasthan form part of which of the following relief regions of
India ?
[y Northemn Great Plains, Peninsular Plateau
2) Nosthern Mountain Region, Northern Great Plains
3) Coastal Plains, Peninsular Plateau

43 Peninsular Plateau, Northern Mountain Region

13- & 40
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129) dvarers gite o Tora & Wids e 9rg & Fefiied § 3 B e w@en @ e E
1) sl geg BeEm, @ usr
2y Tt gddr wlyr, IOl 9Eg EM
3) dc WEW, gHEANR ToR
4) WA YSF, IO 9y ueyl

130) Which one of the following plateaus is not connected with Aravalli mountain -

1) Lasadia Plateau 2) Oma Plateau
€ 3} Baghelkhand Plateau 4) Bhorat Platean
| 130) frtferfir & & Fren WR wERT A @ waE T b -
1) @rIfEar wer 2) A yer 3) wEETE g 4) Wi 9B

131} The river which after entering Rajasthan from south flows westwards and again turns southwards is

1) Mahi 2) Kal Sindh 33 Chambal 4y Luni
131) gz =8y o srsver § afior & U9 @9 % TR OISO 0 S 9 g T efor o v g2 el ' -
Y wrd 2) wE Ty 3) T 4y I

132} Which one of the following pairs is correctly matched ?
i 1y Chambal Project - Rajasthan, Uttar Pradesh
2y Narmada Project - Rajasthan, Uttar Pradesh
3) Mahi Bajaj Sagar Project-Rajasthan, Madhya Pradesh

4) Beas Project - Rajasthan. Haryana

1) T 9ErE - TR, SRS
2) AHE PRSI - TR, SRRy
3) WE FOTH ART GRS, T, HEET

133) River Khari Originating from the Bijral Hills form part of which one of the following drainage

systems?
1) Bay of Bengal 2) Arabic Ocean
3y Uncertain drainage 4y Internal drainage

133) Ryorret ) eieal B Meww aml ol @ Pelelar S o By sam ag g 9m 2 7
" 1) & I T 2) 37 W 3) sl s 4) FFEPE 9EE
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134) Which one of the following climatic regions proposed by Koppen is not correctly matched in
Rajasthan ?
1) Aw - Southern part of Rajasthan
2y Cwg
3) BWhw - Arid desert
4) BShw Semi-arid desert

Northern part of Rajasthan

H

134) g5y ZrT vigs wearg w2l |§ & TeRaE | e gk w8 ¥ 7
D AW - YOREN @ e Ee
2) Cwg  ~ YISREM &1 I W
3) BWhw — % o5
4) BShw — HE-97%F WHU

135) Which one of the following pairs is not correctly matched ?
1) Udaipur - Chittorgarh - Red - black soils
2) Alwar - Iaipur - Loam soils ;
3y Sri Ganganagar - Hanumangarh - Grey Sandy soils

4) Kota - Jhalawar - Black s0ils

135) fefeims # & oA gy 39 gates a8 g 7
2y FEEHL - I - e ﬁ?@

4) W - FAEE - FHd 5 N

136) What is the root cause responsible for scarce rain in western Rajasthan?
1) Tocation of the region in rain shadow zone
2) Sudden incoming of south-east moisture-ladden winds over an intensely heated landmass
3) Mechanism of the Indian Monsocon "

4) Orientation of the Aravalli mountain range

136) afyet ywe | = g9t & T SAvEnl g sy wmem e g 7
1) gfte e wds | e & ke
2) S g wpeEvE O aforgdl ST st w i gge
3) INAE AEEE w RS ;
4) FER wHA ol Rl §
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137) How much area of Rajasthan would get the benefit of irrigation by Indira Gandhbi Canal on its

completion?
1) 17.41 lacs hectare 2) 11.63 lacs hectare
3y 15.17 lacs hectare 43y 19.65 lacs hectare

137) gy wifelt 7 & qui €19 97 Trwens F TR 9§ 28 B R s A w8 ey

1) 17.41 7rg &Fe 2) 11.63 @0F #aear
3) 15.17 &1 #aedy 4) 19.65 Wi Eaeyy

138) How are the soils of western Rajasthan get impregnated with acid and alkaline elemenis?
1) By water flow in soils
2) By water capillary action through cells from lower layers to upper layers of soils
3) By leaching of soils

4y By percolation of water from upper layers to lower layers of soils

138 iy Trorere @1 B ane S ey e W ORe B9 S T B 7

1) w1 % ware (flow of water) X

2) g A e "9 0 RW #T AV #3717 FERE (capillary action of water through
cells) I

3) fqdr % g (leaching) A

43 ]cﬁff%fT F HYN GHE g AT HE HE (water percolation) 3

139) Which one of the following is the correct sequence of forest types it Rajasthan i descending order
of area occupied by each? -
1) Dry deciduous - mixed deciduous - tropical thom - sub-tropiead evergreen
2) Mixed deciduous - dry deciduous - wropical thorn - sub-tropical evergreen
3) Sub-topical evergreen - mixed deciduous - dry deciduous - tropical thom
4y Tropical thorn - sub-tropical evergreen - mixed deciduous - dry deciduous

139) g & SEIE BF T OTUE A WD @ bl BHIEE 5 27
1) o YT - TR ol - W gRdE wiear - T i werehe
2y fefe quiurdr - o wigr - SorsfaeE wieer - U EeE TEEE
3) TUWl BEEEE qEERE - e gorEl - S g0l - 30 steedm sl
4) TUTHEESEE Fear - 3 sl Aeia - fafae aoiel - g s
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140) In which of the following wildlife ecosites in Rajasthan bio-diversity and genepoo! conservation
programme is currently in progress?

1) Bundi, Tal chhapar, Phulwari-ki-Nal, Band Baretha
2) Nahargarh, Sajjangarh, Sariska, Mt. Abu
3} Sitamata, Kumbhalgarh, keladevi, keoladeo Ghana
4} Keotadeo Ghana, Jaisammand Lake, Mukundarrah Hills, Ranthambhor
140) s § e § 9 9 g2t wiRglas - el o adqad § o ffeemr o siega dego
& B WG W E 7
1) o8, A B, HEari-a-Aw, SRETE
2) HETTe, WSHWE, BIER, HIITE i
3) HAEI, FeERTe, FERG, FaEd oA
4) THEEEA O, TOUEE I, YHad YRS, o

141} The districts of Rajasthan where the perfumed grass Khas is grown in abundance -

1) Jhalawar, Bundi, Kota

2y Bhilwara, Ajmer, Chittorgarh

3) Bharatpur, Tonk, Sawai Madhopur
4) Karauli, Alwar, Dholpur

YAV ot % 9 Taer TRAT e S geEa wml ugra o Tl 8 -

3) WIAYY, i, HaTE WY 4) FIA, wAET, AL
142y Where is the "humpbelt’ infested with the problem of fluoresces located in Rajasﬂ'lan‘?.
- 1) Nagaur - Ajmer 2} Banswara - Dungarpur
3) Bharatpur - Alwar 4y Tonk - Dausa

142) wromeens | e &1 gawl o N gEsudr s el fge &7

1) AT - 2) AiETE - vy
3) HIEYF - A 4y =RF - 3

143} What is the root cause of desertification in Rajasthan?
1} Salinity of underground water 23 Uncontrolled mining

3} Scarcity of rainfall 4y Climaiic changes
/

V43) 7rTen | HERGEIEI 6 UW T R 8 2

1) 4R 7 &1 @90 2y st ey
3) g &l A 4) weary afadE
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144) Match List - I with List - IT and select the correct answer using the codes given below the lists -

List - I List - II
{Areas in Rajasthan) (Animal Breeds)
i) North-western Rajasthan a) Rathi
i) South-western Rajasthan b) Kankrej
ii1) Western Rajasthan c) Tharparkar
1v) South-cast central Rajasthan dy Gir
Code
1 (E}c Giyb  (ia  (vyd 2y (Ya (b (iyc  (iv)d
3y (a ()b Gidd  (v)e 4 Ob e Giyd  (v)a

144) gt 1 el 1 @ gEEE B aar g & A R T g @ W 67 98 T g -
T 1 | T

(e F &d) (9g] %)

1) TE-aigHl TR a) T

i) SHAU-OTEE TR b) @IEIA

iii) g T ¢)  UWHIHT

iv) BT ge el TR d) b

1y (e (b Giba (ivd 2) (ha (b (i)e  (Gvyd
3) (a (b Gind  Gvic 4y (hb  (Ghe  @iyd  (iv)a

145) Of the following National Highways passing through Rajasthan which National Highway is the
longest within Rajasthan terriory? -

1y NH 11 2) NH 12 ""%) NH 15 4) NH 8

VAS) 7yrspearst N ore A (e T TTAHE | R - S TR TR - H SEieE

1) ITER T 1 2) el a2
3) T T 15 4) MG TEHE 8

146) American cotton in Rajasthan is produced in which of the districts?
1) Kota, Bundi, Baran
2y Jhalwara. Ajmer, Siroln
3) Rajsammand, Udaipur, Chittorgarh

4) Banswara, Hanumangarh, Sriganganagar
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146) Tores § e surg o s B fel o 8mn 80

{) @ier, 98, 9 : 2) WS, S, B
3) TR, 3Ry, RET 4) SHETS, FHETE, ST

147) Minerals in which Rajasthan holds monopoly in the country -
1) Garnet, Wollastonite, Granite, marbie
2 Jasper, Gamet, Feldspar, Gvpsum
3) Jasper, Garnet, Emerald, Wollastomte
4) IJasper, Garnet, Marble, Lead-Zinc
147) & wfve ©9 # Tora & 2y | uenied § -
1) ©HE, FRCEe, TAEe, HTHTHT
2) SR, qEn, Eer, e
4) Spur, TS, ST, SR

148) The first irrigation project of Rajasthan in which sprinkler irmngation system has been adopted io
conserve walter -

1) Yamuna Water Irrigation Project
2) Narmada Canal Project

3} Siddhmukh Nohar Project

4y Bhikhabhai Sagwara Canal Project

148) 1o oo wem THEE Gl B S e i wearl R 9gta wl siosrar e E -

1) THE S G g 2) TTHE BT UPArE
149) What is the length of roads per 100 square kilometers in Rajasthan? B
1) 56 kitometers 2} 50 kilometers 3) 60 kilometers 4) 72 kilometers
149) yroprem F Wi 100 @ Fpeiic? doree oF 92 o) eend e & 7
1) 56 fremiic 2y 50 Tz 3y 60 TermimeT 4y 72 Twrdre

150) Which one of the following statements regarding contribution in mineral production of Rajasthan
18 not true?

1) Rajasthan produces cent-per cent Wollastonite of India
2y Rajasthan produces 96 per cent Flyorite of India
3) Rajasthan produces 75 per cent Rock-phosphate of India

4y Rajasthan produces 90 per cent Jasper of India

23_A 46
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150) wroveers @ @fw Tamed ¥ GEM & o e A § T SE sy amd E 7
1) YrreE AR 1 -9 gEeFEE 39S B B
2) TR WId 96 S TR S0 W §
3) T SR 075 TV e BIhE 99 T B
4) o 9 #1090 i SRIR IE & 8
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